MATHS ASSIGNMENT
CLASS-2
TOPIC:- SUBTRACTION

Solve the following word problems:

Example— A shopkeeper had 223 shirts. He sold 119 shirts. How many shirts are left
with shopkeeper?

HTO

113

Total number of shirts = 2°28
Number of shirts sold = -1 19
Number of shirts left = 1 04

Ans- Number of shirts are left with the shopkeeper = 104.

Q1. There are 874 apples on a tree. 531 apples are picked from the tree. How many
apples are left on the tree?

Q2. There are 702 students in a school. On a particular day, 658 students were
present. How many students were absent on that day?

Q3. There are 647 ducks in the pond. 237 ducks swim away. How many ducks are
there in the pond now?

Q4. A bus carried 138 passengers. At a bus stop, 56 of them got off. How many
passengers were left in the bus?



Q3. Subtract the following:-

Example:-HTO
712

Solve:- ) HTO  ())HTO  (c)HTO
540 607 732

(dHTO
811

(€)HTO
932






